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el YA S (Sl #)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
I3t 284,673 328,908 ~44,235
=g 22| 249,837 287,712 N37,875
NEIES1s 104,887 106, 061 A1, 174
HEzeey 104,887 106, 061 A1, 174
201 YEr2gy| 66,550 66,840 £290
01 AtR 22l 19,460 19,750 £290
OXNYA 22 otye 80,0008 * 58t 400
ozzs 7Y 20,0002 * 38t A 660
OS=Ci6iM 5 B2 40
60,0002 * 472 240
ONEes 22 U Aoy 1,500
OIXN D& RXS4
240,000 * 122 2,880
OIXAN D& £2F 29 1,500
S {E 330,000 * 24 660
oR9H0| T 200,008 * 20 400
oy3 220,000 * 24 440
OXNYN SHRFSALEY 29
660,0002 * 122 7,920
OXIYAl HAHFAIAE ST 22
200,0002 * 122 2,400
OfIEs +g 1,960
OXIYAAARNSE 70,0008 + 7Y * 43| 1,960
02 T2 47,090 47,090 0
OZZ23 % Al 47,090
coHe 2523 1,4902 + 31,0001 46,190
SO AIXI (SHS) H&R3
2521 * 3,000 * 128 900
202 01 bl 12,150 16,976 A4,826
01 2UH0i 8] 2,150 16,976 74,826
ORBRBEA 81,0008 * 5 + 22 « 153 12,150
306 2013 1,800 0 1,800
01 E012 1,800 0 1,800
OXNYNHDR NLNLEIZ 53 1,800
403 XHXISHRI S XH 0| 22,942 20,800 2,142
02 271 2HS Ol CH BHCH 84 AF 21 b 22,942 20,800 2,142
OXNYHESHMTRIY SX2e 18,874
ONYHESHM(FEA) T2 ST 2 4,068
405 THAHH S| 1,445 1,445 0
02 AT 1,445 1,445 0
ONFYLET HYT 7Y 1,445
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o XA HEH 35,0004 * 25& 875
ONLHY HEF 95,0008 * 62 570
KA Mo 2tel 40,948 55,135 A 14,187
KA Mg Ha 40,948 55,135 A 14,187
201 Bt | 25,220 37,550 £12,330
01 AR 2t eld| 21,960 34,510 A 12,550
OMEAHY SHH=2 7 80,000& * 208fA 1,600
OHEMY SHHS FZE 120,008 « 1082 1,200
OHEY HeEs s40t
60,000& * 401 = 43 960
OHe=sd =2 311,970,000& * 2/100 6,240
OHEHE +48 8,008 * 1,00021 8,000
OHBETAT AL SX2
330,000& = 123 3,960
02 2244 3,260 3,040 220
0Z223 2 HAl 860
o XHS A 360
cA=SIEE= 500
OXte& =Xl 200,000& = 123 2,400
202 (44| 10,728 12,585 N 1,857
01 2Uhoi 4] 10,728 12,585 A1,857
OHEATS: o=z 5,184
HALWHYS =
81,0002 * 22 * 22 * 63 1,944
OHExZ HEmx| 3,600
303 &3 5,000 5,000 0
01 Z&= 5,000 5,000 0
ONEgHE= Ios 250,000,000& = 2/100 5,000
M 15,662 24,740 A9,078
NE I EEIN 8,610 1,240 72,630
201 et A | 750 1,250 A500
01 AR 2t eldl 750 1,250 A 500
OXIZA MEHZALA 2,500& » 300% 750
202 44| 4,860 6,990 A2,130
01 = LHAbI 4,860 6,990 22,130
ONRZA Y= 4,860
303 Z&at= 3,000 3,000 0
01 Z&3 3,000 3,000 0
ONMZ =8 ZL&= 60,000,000& * 5/100 3,000
AN S0HE 7,052 13,500 NG6,448
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S . M. GOl (5 SALS . HA 2 A} OH dE T o) =2t
201 LBr2g | 6,080 12,500 A6,420
01 At 2teltl 6,080 12,500 A6,420
ORETA HROHYE
80,000& * 10 A * 23] 1,600
ORNETA 5 2% 540
60,0008 * 544 « 23] 600
OXNSXA 2H 2HHE
200& = 1,0008 * 23| 400
O=0IAMl g2 80,000& * 30=tA 2,400
OFaIAl = 29 4ol
60,000& = 10002 * 18] 600
ootz =% 120,000 * 4&8rA 480
202 44| 972 1,000 A28
01 SLHA b 972 1,000 A28
OAMS gRFX 972
W E2L 52,536 63,193 A 10,657
AN S oHE == 10,460 12,695 AN2,235
201 L EH2FH| 5,600 7,000 A 1,400
01 A2 2teld| 5,600 7,000 A 1,400
OMLM &8 B8 8%
60,0003 = 5I A * 28] 600
OMAEHM &2 et
80,000& * 208t A * 23| 3,200
OTHEEAl MAILHE A E =8 X
35,000 * 1294 * 23] 840
ODIZAl BEZE 2Z448
1,600& * 600& 960
202 0dl 4,860 5,695 A 835
01 2L bI 4,860 5,695 A 835
OMAMR HRFX 4,860
IHE =& I3 AL 42,076 50,498 AB,422
101 el d| 10,744 13,748 A 3,004
4 JI12HHZ22NSES 10,744 13,748 A3,004
OMNEFBIIAT AL 22X B 10,744
=Jlzg 36,640 * 198 * 200 7,328
oxFgg 36,6403 * 19 * 45¢ 1,649
ocHXtxY 36,640 * 19 * 10 367
c4HEE 80,000& * 1H = 103 800
o 2HAH| 3,000& » 1H * 200 600
201 B2 HH| 28,740 32,750 24,010
01 At 2teltl 28,740 32,750 24,010
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OHNEFEHINAIA BEF2
5,810& = 3,000= 17,430
OME =LA T AL A2alely
80,000& » 35 » 15&8tA 3,600
O} tnER san
60,000& * 10JHZ + 12l 600
o= e do=d
70,0008 = 11% * 33 2,310
O M = A4EXNE 208 7A2c
400,000& * 123 4,800
202 o4 Hl 2,592 4,000 A 1,408
01 S LHAObI 2,592 4,000 A 1,408
OMEFeIIA RF
81,0008 * 2& » 2 « 8% 2,592
N2+ S 35,804 38,583 N2,779
el 35,804 38,583 N2,779
201 et 10,630 13,890 A3,260
01 AFR 10,630 13,890 A3,260
OA SAl XA
75,000& * 88fA = 23] 1,200
OMe+=y ==& 75,000& * 3=A x 23] 450
OFg=2-s 120,000& * 58FA * 23 1,200
OesIl 2258 100,000& = 10CH * 12 1,000
O=gSX 2yl 16& * 50,00004 800
OXMgHLs NENES4R
250,000,000& * 2/100 5,000
OJI=MARIEs BaL
70,0003 » 7H * 28 980
202 044l 4,374 5,093 AT19
01 2L 4,374 5,093 AT19
OMe+e HREA
81,0003 * 321 » 22 * 93] 4,374
303 L& 4,000 4,000 0
01 Z&f 4,000 4,000 0
OHAI =M A 4= 200,000,0008 * 2/100 4,000
403 XX SHHMS =0l & 14,500 11,000 3,500
02 SISOl CHSHCH & At I 14,500 11,000 3,500
OAl ZT208 RNE+ 14,500
405 Kot 2,300 4,600 A2,300
01 HME =SS HSHI 2,300 4,600 A2,300
o¢l = 2,300,000& * 14 2,300
HY 2L ZHI(A 34,836 41,196 6,360
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=34 34,836 41,196 A6,360
=3l 34,836 41,196 26,360
201 get2dd| 28,476 32,676 N4,200
01 A2 2 2ldl 28,476 32,676 A4,200
ORMEE JI=3H| 250,000& = 122 3,000
OMREE FL(SAX S) 200,000& * 12& 2,400
OHIARID| 225 79
300,000& = 1200 = 23l 7,200
O=&l 7,0008 * 27 » 7 x 128 15,876
202 ¢4l 2,160 4,320 22,160
01 =2 A b 2,160 4,320 N2,160
OHl&42% 20 2,160
203 P2 E Y| 4,200 4,200 0
04 RFAN2EHRFEH 4,200 4,200 0
ORN2IHRFAHI 350,000& = 123 4,200




